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Factoring Methods:

1. Common Factor

2. Simple Trinomial

3. Hard Trinomial

4. Difference of Squares
5. Sum / Diff of Cubes
6. Factor Theorem

7. Quadratic Form
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6. Given y=—x" +2x +3x’ —4x—4 find L=
a. The degree
b. The number of turning points
c. End behavior
d. State the intervals where the polynomial 1z positive and negativ
e. Sketch and clearly show the x and y-intercepts

o _yq+axs¢5kg_afx-§//7 EE

Y= (y"- A3 Hh4)



practice test solutions.notebook October 30, 2017

Bl) -
6. §=r IS 4 3 3 x+) (& 3Lr0cH)

9': = {x‘f’o?)f.s'ﬂtlf‘*l‘..*‘;) @ X-ax-3x> +Hy /10{_,,) :f #

k'h—)é
2 2 Ml -

8) Degriee - ¥ L _i—_l-_?_tl__,
Wbamm.a b o T
(‘” Gnd Beh© leadtCrm X ) '+JL+L}

Hx
= -l >0 1 N
@) ) b )
: L1t I, 2 (m)(w)(x-ﬂxﬁ)
W Y
!al‘jr}'*-' "j‘

J)Jz @) (,m,—l) (1,3) 3 ,00) ‘!ir 15 Nég-

i s hever poeimve

10



practice test solutions.notebook

October 30, 2017

b (a) Y ;a(x+5)(x—f)(X*7)
30: a(a+3)(2-1)(3-7)

30 -a (5)0)(-5)
20: doa
30

=

25
bl =a
R .2

= Yoa

Q%ozz
Q-

J2-

- b(x+3)(x-x-1)

(b} - a(x+s)| xH)(x -aXx-4)

:JU a0 45)(o+1)(0-2Y0-%)
CQU a(5)1) ( ~2Y-4)

Y- Y (x+5Y ket Vox-2Y - ‘.:‘)

11



practice test solutions.notebook

Test tomorrow:
Review Page 153: 1-11 (omit 4)
from book:  page 155-156: 1-4, 6-8
Page 148: 3
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PreCalculus 12B  Practice for test:  

Part A    


1. What is the remainder when 
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3. What is the solution set to 

[image: image8.wmf]0


4


2


3


>


+


+


-


)


x


)(


x


)(


x


(


(where is it positive)

a. (-4, -2) or (3,
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4. If x+1 is a factor of 
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 what is the value of k


a. –1         b. –3         c. 3          d. –7


5. If P(
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)=0 for a polynomial, which of the following is a factor of the polynomial?


    a. (4x-5)     b. (5x-4)     c. (x+5)/4       d. (5x+4)


6. Which of the following is a polynomial function?
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           7. For a polynomial P(x), if P(-9)=0, then which of the following must be a factor of P(x)?


   a.  
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8.  A factor  
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9.
Which set of values for x should be tested to determine the possible zeros of [image: image28.png]2462 - 105+ 35





?


		A

		±5, ±7, and ±35

		C

		1, 5, 7, 12, and 35



		B

		±1, ±5, ±7, and ±35

		D

		1, 5, 7, and 35





       
 10. Determine the value of k so that [image: image29.png]



 is a factor of [image: image30.png]2 +10x2 + 3x+ k
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		A

		k = –1

		C

		k = 14



		B

		k = –14

		D

		k = 1






       11. Which of the following is the fully factored form of [image: image31.png]2 +2x% — 23x— 60
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The fully factored form of [image: image36.png]2+ 1023 + 7x2 - 162x - 360
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		A
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Part B


1.  Show that x + 1 is a factor of P(x) = x3 + 2x2 + 3x + 2.

2. Factor each of the following  


a. 
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3. Determine the x-intercepts   
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4. Solve:    a.  
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b.  
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5. Given  
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, state:


a.  The degree


b. The number of turning points


c. End behavior


d. State the intervals where the polynomial is positive and negative:  

e. Sketch and clearly show the x and y-intercepts

6.    Given 
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 find   


a. The degree


b. The number of turning points


c. End behavior


d. State the intervals where the polynomial is positive and negative


e. Sketch and clearly show the x and y-intercepts

6. Determine the equation of the function shown in the graph below


A.                                                                                      B.  
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